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Note:  All Questions carry equal marks.
_ Attempt any four questions from the following.

Q:01(A) Write probability mass function of Negative Binomial Distribution. And explain its
properties.

Q:01(B)  The probability of getting head when a coin is tossed is % . A person tosses a coin
continuously. Find the probability of getting 6™ head at the 10" trial. Also find the
mean and variance of number of tails before getting the 6" head.

Q:02(A) Give properties of Hyper Geometric Distribution.

Q:02(B} For a Negative Binomial Distribution mean is 18 and variance is 54 find its
parameters. : :

Q:03(A) What is mean by Theory of game ? Explain principle of Dominance.

Q:03(B) There are six jobs, each of which has to go through the machine A and B in the order
AB, Processing times in hours are given &s:

Job A B C D E F
Machine A 3 12 5 2 9 11
Machine B 8 10 9 6 3 1
Determine a sequence of these'jobs that will minimize total time T,
also find idle times for machine A and B.
Q:04(A) Explain processing of n jobs through two machine in sequencing problem.
Q:04(B) Solve the following game problem.
Player — B
-5 10 20
Player—-A |5 -—10 -10
5 =20 =20
Q:05(A) Explain methods of collecting Demographic Statistics.
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Q:05(B) From the following data, find the crude and standardised death rates of two cities and

Q:06(A)
Q:06(B)

Q:07(A)

Q:07(B)

Q:08(A)

Q:08(B)

compare them.

City - A City-B
Age
G ) Ponulati Numbers of Populati Numbers of
n years opulation Deaths opulation Deaths
0-5 40,000 1,000 15,000 360
5-30 52,000 1,040 20,000 400
Above 30 8,000 240 10,000 280

What is demography? Give uses of demographic statistics.

From the following data about a city of total popuiétion 2.5 lakhs, Calculate CBR,
GFR, SFR and TFR.

Age
groups
(in years)
No. of
Females
No. of live
births

15-19 | 2024 | 25-29 | 30-34 | 35-39 | 4044 | 4549

16,000 | 16,400 | 15,800 | 15,200 | 14,800 | 15,000 | 14,500

260 2,295 1,896 1,368 888 279 145

Explain single sampling plan and Consumer risk in reference to Product Control
Techniques.
For a single sampling plan (1000, 100, 2) find producer’s risk and consumer risk

when AQL = 0.01 and LTPD = 0.06.
Explain the following terms,
(H AQL (1) LTPD (III) OC Curve

For sampling plan (1000, 100, 2) we have following information prepare ASN, AOQ
and ATJI curve also find AOQL. . '

P 0 0.01 0.02 0.03 0.04 0.05 0.06 | 0.07
P(a) 1 0.920 [ 0.6765 | 0.4233 | 0.2379 | 0.1240 | 0.0620 | 0.0296
i
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Q:01(1)
Q:01(6)

Q:02(%)

Q:02(61)
Q:03(21)

Q:03(61)

Q:04(1)

Q:04(%)
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Q:05(%)  azdl [Auag viissL 2isBid s2aud) Adl swondi,

Q:06(21) Al [Anas 2issteli 218 Ml 21 dAL GuAidll syl

Q:06(6t) 2.5 alut<il axdl Huadt »is agaedl A2l Hulsdl wel CBR, GFR, SFR ¥4 TFR il

Q:05(et)  ~fla-l uiledl uell ol 262 A vid Bl Alel e wid WHUBA Yot A vid dud
¥l
GHR US- A 2683 B
(483 ) ARl 56 HeY gl 56 Yoy
0-5 40,000 1,000 15,000 360
5-30 | 52,000 1,040 20,000 400
30 «lay 8,000 240 10,000 280

T

GH2 1519 | 20-24 | 25-2930-34| 35-39 | 40-44 | 45-49 -
(434l ) 2 ‘
Nl sa
%’a:iﬂé{ 16,000 | 16,400 | 15,800 | 15,200 | 14,800 | 15000 | 14,500
DAL 1 g0 | 2205 | 1,896 | 1368 | 888 279 145
olSTAl Hueyy

Q:07(2)  ellydl [Aedlet <l UL iy [Aedld Alsyell 2 Algsd oxivin AUl

Q:07(6t)  wls [Aedl dlsy<ll (1000, 100, 2 ) Hi2 AQL = 00194 LTPD = 0.06 14, dl Geules<]
S Vi Ylesse] srlvAH 2lIMl.

Q:08(1) 2t yel Andl.

(1) 214 dpRaiL iR (1) U il vl wie (1) slaan as

d4l AOQLULL 2.

-

Q:08(01)  [Aedld dlsyil (1000, 100, 2) Wt2 1Al uilsdl weefl ASN, AOQ 21 ATI 4%
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P 0

0.01

0.02

0.03

0.04

0.05

0.06

0.07

P(a) 1

0.920

0.6765

0.4233

0.2379

0.1240

0.0620

0.0296
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